NOTES: 3.1 (Unit 3, Lesson 1) Name: Heu

o
Integers and Absolute Value

* Aninteger is any positive or negative whole number from the set {...,.-4,-3-2-1,0,1, 2,3, 4,...}

¢ Negative in i
ot tegers are integers /. FSS than zero. —— origin positive
¢ Positive integers are integers (MORE i Zare, | Tregens Y Integers
11—
s Zexrp is neither negative nor positive. 5432101 2 3405
% 4 ¥
10 6 * o . .
These numbers are Integers: 0, 3, —100, 432, 5k =g 987,654,321 5 Simplifies % 5,
Th b tIntegers: 72, —, —> 3.7 "L
ese numbers are not Integers: 7.2, —-, , —3. 3 Smpiges 4o -2,

Whiah 9 o N\'ecauﬂ
Write Integers for Real-Life Situations

a gain of 5 yards on the first down. ¢ & yaro\.s 6 feet below sea level _¢, £
a temperature of 10 degrees below zero. -1 a $35 withdrawal _ $35

You Try! Underline key words

a. Lost6 points -G pts h. 5000 feet above sea level + 5060 £+
Sy, ey P ———

b. 3 stokes below par =% ghopes i. 7 inches below normal -7
c. $5deposit +$S j- $5 off the original price -$5§
d. Alossof $30 -$20 k. ascend 100 meters+ [OOm
e. descend 20 meters - 24 l. 10 strokes above par  5gg9

™ HO
f. 12 centimeters longer +12. o m. 6 yard I_o_si Shrokes

- u yd

g. How far away is the plane from the submarine? (200,

h. 100 meters ascend and then 20 meters descend

+ |O0Om
- 20m

B0 m.




Graph an Integer on a Number Line

Graph —4 on a number line. Then graph 3 on a number line. Which one is greater????
i t } } t P } }
-y 3
0

Use the >, <, or = to make a true sentence.

Compare Integers

-6 () -4 a.3 (35 b.-5 (<) 0

A 4

9 M y 6 (O-1 d. 23 >)-29

Positive numbers are always e ATER than negative numbers.
Zero is always L ESS than a positive number, but _GiREATER than a negative

number.

When comparing two negative numbers, imagine them on a number line. The negative number closer

to the zerois always faReATeR .

Name | Average Surface
Order Integers
Temperature (°F)
SCIENCE The average surface temperatures of Jupiter, Mars, Earth, and < Jupiter -162
the Moon are shown in the table. Order the temperatures from least to@ Moon -10
greatest (in ascending order). ’ICPZI -8]} -,o’ =1 @ Mars -81
@) Earth 59

Absolute Value

e The obsolute value of an integer is the __distance. that number is from
2exo on a number line. (# of steps from zero)

e The absolute value of any number is ALWAYS fD&'\‘\\J"& , or +

14| = |-14] = 14



| i

/ -

Evaluate and Graph the expression. |—4|= &4 Steps from O

/N

———>

o I 2 5»]-‘1[

a. 16| = (o b. 4] + |—4| = c.|-7| - 12| +1-1]=
Hey= 8 7.2+ < G

d.|-5|=5 e.|9] — |-5] = £ |—13| 4+ |-7| =
9-5 = lf 13+ 7 = =0

Record the absolute value for each integer.

1) |-8|=9% 2) I51=95

3) 1151 = |5 4) |-13| =13

Evaluate the problems below.

5) |-22] +9=R2+9 = 3| 6) |10/ -|-4l=l0-4 = G
7)171-9-101= 2.9.0= O 8) |-100] = [5]= Joo =5 = 20
Compare, using <, >,0r =

9) 6 (< |1?4| 10) |-17| @|17|

Order the following from GREATEST to LEAST (descending order).
11) —32,-10, |16], |-3|, |-30], 25 ,“30/‘-25, lle] [-3] -lo -22
l(l 5 30 7 7 7 7

Additive Inverses

Additive inverses are numbers that are the 5%& distance from zero in Qp{_pﬁ{:}:c

directions on the number line. When additive inverses are combined through addition, the sum is

ZERO.

Write the Additive Inverse of 3. =3 Graph 3 and its additive inverse on the number line.

£ } 3 + t 3 &
-3 (o) K
Werite the additive inverse of each number. Graph each pair on the number line.
a.-4, 4 b.8'-3 c.—glc,
——t+—&—+—1 — g
ot - -4 -2 02 4 $9lo



Practice (1.1 — Kw
-

Write an integer to represent the situation below:

1) sea level O 2) a withdraw of 42 dollars _:;E'B'_
3)14 degrees below(Q =~ ,Li'o 4) an increase in height of 3 inches _-Pim_

Write the value represented by the point for each letter. Then find its additive inverse (a.i.).

H P K M -
cd4———4—+t—+—F—+—+—++>

5 4 3 2 1 o0 1 2 3 4 5

5) K _O_ ai. O 6) H _‘_5__, a.i: S

v Y L =4 g) p =R ai_R

Evaluate

9) 29| =39 10) |-15/=19

11) [9]-1-21=Q.22 7 12) |-50| +|-7| =50+ 7= 57

13) What is the sum of the absolute values of —14 and 107 I'IU!+ , 16 l 3 )Y +lO =@

14) [-30] - |41 151 = 36 -Lh 4 § = Qe+ T= [3|

Compare using >, <, or=
15} B ) 1A 16) 11 (3 -4 17) 191 D19

Order the following from least to greatest (ascending order).

18) -8, 10, 2, -13, -5, 3 =13, -% -5, 3,10
19) —22, -11, |11{, |O], |-14|, 22, -10 =2,-l, -lo, le] l"l.J""l.ll
+h (o] + 4 ’ ' i ’

Order the following from greatest to least (descending order).

20) -9, -19, 19, 99, -29, —99, 29 Aa,29,19, -9, -19,-24, -99

??? Why is it better to have a positive bank account rather than a negative bank account?

Answer_t, il vg\,b



